FRES e FHU T ufieor ufiug i, IRGs
arffe Tt 2022-23

HISA YUY YA
FET: -12 ffww - Shafesmw
Time- 1.30 Hrs , F.M-35
gs-A

- W ust & IR Srfvard g1

- PA 35 UH Tl

. % Uy & fore 1 s Aruffya g1

. Ud® U4 & IR faopey i3 e €1 ) Ay &1 994 Fifvm|

- TAd SR & AT I3 3ip T8) BIe S|

1. Which of the following is known as ‘Father of Genetics’?
o & & feg “engatardt &1 foqme’ w1 Srar 82
a) Mendel (H=)
b) Johanson (STIgT=E)
¢) Hugo de Vries (E‘{Fﬁ EIREED)
d) Tsheremak (9TTHF)
2. Which one of the following statement(s) is/are not correct with respect to Genetic code?
e & ¥ F9 97 FI9° AqEtaw 20w O qaw a8
a) The code is triplet.
RUSIEENS CAEEIE
b) It is specific and unambiguous.
7z fafere qum swfewer gar 2
¢) The code is universal.
Ig FAT=F rar 2l
d) None of the above.
ST H " AIE Tal
3. Which of the following is an Example of Active Immunity?
T ITAeeAT # I 7 § | &1 82
a) Vaccination (STTHTT)
b) Colostrum (FTATEEH/FT)
¢) Readymade antibodies (I FATT Tfawef)
d) All (@)
4. A condition in which a plant contains both the Male and the Female reproductive organs, is termed
as:
Fg foufa SEH UF 9teT 9¢ 97 A41&T S99 9F AT S AT T@AT B, FEArdl o
a) Monoecious (Iﬁ?ﬁﬁ'&r\q)
b) Dioecious (gTiﬁﬁW)
¢) Heterothallic (%i%r@ri%m
d) Unisexual (Ts oY)

5. Cell Mediated Response is associated with :
FITRART TILAT STTHAT HT el &
a) B- Cell (I1.- FrfarT )
b) T- Cell (. - FIferFT &)
¢) C- Cell (Hi- FIforrT ¥)
d) - cell (3EHT - FITAHT T)



6. Interferons are secreted by............ .

TETETAFTETT .o % T 2T 2l
a) Bacterial infected cells (STAT TefAT FIforHTT)
b) Fungal infected cells (Fae HeR{HT FHITAFTT)
¢) Protozoan infected cells (STETSTIA oA HITAHTT)
d) Virus infected cells (ﬁ'NTUI TR AT FITAFTT)

7. Tumour is/are: & ATEqT H:
a) Group of cells who have lost the property of Contact Inhibition
(ST FHITAFTAT 7 T SH FEqel HTHA A7 07 FHH 21 TAT §1)
b) Group of cells having property of Contact inhibition
(Y FTfAraRTS T T AR Heqel HEHA T 0 7iE 21)
c¢) Group of cells having specific function
(Freft fararer et g FITRrTSA 7 99E)
d) Group of cells having general function
(ATHTT FT % HATAT g HIAFT FT THE)
8. The term ‘Codon’ is associated to:
gz “wreH Fw § ° & gafaa €2
a) t-RNA
b) m-RNA
c) r-RNA
d) c-DNA
9. The process of Replication proceeds in the direction of ................... .

giaptaa &t gt e § & & G & v 22
a) 5-3
b) 3 -5
c) 225
d) 5—-2
10. Synthesis of DNA molecule from RNA molecule is termed as :-

ALTAT A F TLUAT AT & [AA(or it giohar B a0 & S S 82
a) Transcription (a‘:ﬁ’@’%)
b) Reverse Transcription (Ra¥ ziafFea)
¢) Translation (T9T<)
d) Replication (TTaHfaa)
11. Which of the following pair is not correctly matched?

frer & ¥ &9 @1 W qd gatE 2

a) Menarche: The first menstruation at puberty

TAENT: II9 HIHE =19

b) Menopause: Cessation of menstrual cycle

TG : FgATE T a8 g1 ST
¢) Corpus luteum: Remaining part of Graffian follicle after ovulation
FIHE AMAN: FS(EA & TATT@ JTRI TeF F1 a97 g fgear
d) None of the above
o # A A
12. Any substances that can cause Cancer, is called.....
I Terd ST FET IO F AR §, FEATT B
) Carcinogens/FHTST
) Oncogenes/ TSI
c) Metastasis / HeTE&H
d) Metamerism/ HeTH=q

a

o



13. Morgan worked on:-
AR A e # 7 o a2 e e
a) Fruit fly
AT
b) House fly

¢) Honey bee

HeHFET

d) Dragon fly

A

14. There are 64 codons in genetic code dictionary because:
AATAF Fe MeTaAT § 64 THe A &, T,
a) There are 64 types of t-RNAs found in cell.
UH FITAFRT § 64 THT F t-RNA T ST &
b) There are 44 meaningless and 20 codons for amino acids.
T THel H H 44 TFe FASEA Fat* 20 THe Tt T Rl sefier s av e
FT B
¢) There are 64 amino acids to be coded.
T AT 64 STHAT o+ 1A &, ™ree Ffeqd FAT graT 2l
d) Genetic code is triplet.
EEIRE CA LU
15. Metastasis means:-/HaTEEH & qTeTT 3:-
a) spread of tumour away from their origin
et Rorfar Foredt st sy et w71 & g7 o= o971 o Tgd
b) confination of tumour to the site of origin
et Rfa e 19 o o #019 aF gt HfHa 2
¢) enlargement of a cell in size
Toreft Tt o sreTe § sreaters gis
d) Degradation of a cell

et srforeT T o1 g
16. The technique of DNA fingerprinting is applicable in

..U, T FTET aeretten &1 ST fsitong & & Forer-formr & & o ST aerar 22
a) Field of Forensic Science
(FTIA T 78T & (T JTaa i #)
b) Genetic biodiversity

(srgatere farferema)

¢) Evolutionary biology
(EEIGIRSIEIEEILY!
d) All of these
(ITCE Tt)
17. Which of the following is not a Sexually Transmitted Disease?
feifea & & F9-97 T TF AT AT AT T@l 82
a) Hepatitis B (ZUeTsfed o)
b) Gonorrhoea (F<TTh)
¢) Typhoid (3= F9X)
d) Syphlis (Fr&fem)
18. Which genetic disease is caused by Trisomy of 21+ chromosome?
TAH F A9 TN SHES (21) O AT o6 FH0T grav g2

a) Klinfelter’s syndrome

e gy



b) Turner’s syndrome
T g
¢) Down’s syndrome

=req figw
d) Phenylketonuria

19.DNA — DNA — RNA — Protein
The flow of genetic information in the form of above presented chart will be termed as:

YL AT ATE H/H AR | Taia a2, e § & For-fore 1 gerfare?

a) Replication, Transcription, Translation (Elﬁ'fﬁ'a_rf, 31‘:1@'@?, AqATR)
b) Replication, Translation, Transcription (Elﬁ'fﬁ'a_rf, EREIE 31‘:1?1’@7[ )
¢) Transcription, Translation, Replication (H‘jﬁ'@? , AT, SlﬁTﬁ?Trf)
d) Translation, Replication, Transcription (q4T<, QﬁTﬁ'ﬂWaﬂﬁ'@?)

20. The ‘ori’ site is related to (“STIFfd FT &I FTHaer 7w & & Freg 8?)

a) A unique sequence where replication is initiated

T AT STgl & T d T LL&eTd grat &l

b) The region where the DNA replication is terminated

g T gl | TTAFid THE gl gl
¢) The region where Transcription is initiated
g T STl § T il [HAT il gl
d) All of these
EXRLE]
21. The transfer of characters from one generation to another is called:
TR TR N g G ST S R A TR g AT g |
a) Inheritance (9T
b) Heredity (STATAFAT)
¢) Variation (fafareram)
d) Mutation (IeTAIT)
22. Fertilization takes place at/in
o= &t o Feifea & & #2799 gt 82
a) Ovary (=T9M)
b) Uterus (gTET)
¢) Isthmus (FhToT9=r)
d) Ampulla (f=r=m)
23. Human Blood group is an example of:-
‘AEE T a9 W § ¥ fraEr e 22
a) Co-dominance
qg-gHTiaar
b) Multiple allelism
FgAATAAT
¢) Both ‘a’ and ‘b’
IULH FAL
d) Incomplete dominance
AL AT

24. Which of the following pair is correctly matched?

= & ¥ #1991 9 "5l gaad g?
a) Dihybrid cross (Phenotypic ratio): 9:3:3:1

faee (amedt sqaTe) $9:3:3:1
b) Monohybrid cross (Phenotypic ratio):3:1




THA HHL  (VTEAT STT) = 3:1
¢) Monohybrid cross (Genotypic ratio): 1:2:1
UHA HEFT  (ATGATAF AqOTa) :1:2:1
d) All of the above
IIE T
25. ‘Chromosomal theory of inheritance’ was proposed by:
qUESA F AT Fgia s g afautea fEr T an
a) de Vries
EIREE]
b) Mendel
HedT
¢) Carl correns
FA B
d) Sutton and Boveri
gred T Fradr
26. The coding sequence or expressed sequence in m-RNA, are defined as
(T% m-RNA FTHITSTTIHAFEATATE)
a) Exons
Fh
b) Introns
TAHH

¢) Cistrons

A

b

d) Positrons
TSI
27. Snapdragon exhibits. ..

WIS Y=feT FAT g

a) Codominance
EEEEUEG

b) Incomplete dominance
EPUREIEG]

c) Epistatsis
e fim

d) Pleiotropy

SRIEE
28. ELISA is a diagnostic test for which disease
‘ufemr &1y s aheor F oo G STar 82
a) Malaria
LEIERI
b) Cancer
T
c) AIDS

usH
d) Typhoid
29. Cirrhosis’ is related to:-

ez R g ERaRe?
a) Lungs (FF2.)

b) Kidney (9%)

¢) Brain (AfeqTH)




d) Liver (I%)

30. Crosses between F, offspring and either of their parents are known as
FHafd T 39+ M1 A foar § & Bt v & 9 9960 1 #7147 Fgd 82
a) Inbreeding (ITANF TST7)
b) Back cross (I #TH)
¢) Dihybrid cross (fGH®FT FT)
d) Test cross (TTX&Td HFT)
31. The Functional Unit of Inheritance is :

FormTta T SHTE &

a) Gene (Trﬁ_rf)

b) Chromosome ([UTE)

¢) DNA (31.u.1)

d) All of these (STLHHHT)

32. In a DNA molecule, which of the bond is found to be present between the two
NITROGENOUS BASES

T AuA T § A I ATSENHAIGT AT F HeT IT0 ST dlel e A R am o

T ST g |

a) Phosphodiester bond (FTERT-STH-TETT ATe)

b) Glycosidic bond (FATTHTTETSH )

¢) Hydrogen bond(ZTESISIT &)

d) Peptide bond (T=TZE 3ATaer)
33. The Unwinding of DNA is catalyzed by:-

TUAT F TAT To& F AHET H RA-9T IO (TSATSH) TgIF 52

a) Helicases (ZferseT)

b) DNA Polymerases (S1.0F.T , qTeTHLT)

¢) Topoisomerase (ZTATATSHTHLS)

d) DNA ligase (ST.09.0 HTZ)
34. Central Drug Research Institute (CDRI) is located at

FarT Ot SqEdTE qEAT Fwgl qareqd g2

a) Delhi (fa==tt)

b) Kolkata (FTeTehTdT)

¢) Lucknow (sT@3)

d) Ranchi (TF=Y)
35. The term ‘Genome’ refers to

S s wTHEY A # | Fed 82

a) The complete set (2n) of chromosomes inherited as a unit from both the parents

el Sfter & 3o ATaT-foaT & 9TH Tt AT FTOFHE (2n)
b) The complete set (n) of chromosomes inherited as a unit from one parent.
et Sfter # 3o Arar-foar # & fFft va & 9T T oAt w1 OAE (n)
¢) Both (IUTREAT)
d) None of the above (STT<F & & s T-l_gpf)

ge-B TIME- 1.30 Hrs , F.M- 35
I. Answer any five of the following questions in a sentence. (5x1=5)
Raffag v & & = o= #1 S e § o

1. How many types of reproduction occurs in organisms?



ITI.

siat ® S99 fohde Y& #T AT 82

What is Lac operon?

S ST T 32

What is an oncogene?

AHE ST FAT B2

which vaccine is taken for Diphtheria, Titanus and pertrussis?

Refifa, e 3 ggwErh & o sm-a1 = awEm =R

Mendel conducted his experiments on which plant?
T o 9= T o forw B3 over =1 =g+ Framam?

What are antibiotics?
gfasites T 82
Expand IUCN.
are. g H.ua. w7 T Aam o
Answer any five questions in brief.
RuffemEa=enesawERmdtE  (5x3=15)
What are differences between back cross and test cross?

IF FG UF F FHF H FAT AwaC 82

. What do you understand by the central dogma-?

oo o1 FdT ST g = e

What are differences between homologous and analogous organ? Give example.

TASTT UE FAqHATd 39 § FAT =a¢ g2 30 4
Describe various types of antibodies with their respective functions.

ity vy & 9fawer &1 #wr afgq |@ferg aua #@3)

Which gases consists of a mixture of Biogas ?

EIRIE G BRI AR G L T

. Fill in the blank.

EIRISFIET LS
i) The Pyramid of ............. is always upright.

............ w1 forfie gRem @tear gar 21
ii) Gas leaked in Bhopal gas tragedy was...........



iii) AIDS stands for..............
TS, LU AT T ATH v

7. Match the following:-

Fefofaa &1 ffem w7 -

i)Plasmid (=TsTE) a) Cleaves DNA
OT.T.F qreAm
ii)Restriction enzyme b) Gene transfer
CISEEEIRUE IR (ST9 ETTaeor)
iii)Agrobacterium tumifaciens | c) Extra chromosomal
(TR qHEREH) DNA (T #¥EEa .109.7.)

lll. Answer any three questions in detail.
Puffe & F @9 = #1 s B @ gl (3x5=15)

1. What is ozone layer? Write effect of air pollution on ozone layer
depletion. How will the earth be affected if the ozone layer is
lost?

SN TRA T 82 3NSIH IRd & &% B & a1g UgWUT &1 UHTa ford | SR SfieiiF tRd
q 81 Sl Gedt TR 3BT T YT TS
2. Explain polymerase chain reaction with diagram.
uiferaRe e sififshar &1 g qufa e
3. Describe the DNA replication with help of a diagram.
$1.T9. ¢ gfasiaae &1 gfes quiH &1
4. Describe Mendel’s monohybrid and dihybrid cross.
Hed F UF HF< FiF UG (GEHT Hid H Gy

5. Give an illustration account of the process of fertilization in
angiosperms.

Todt ot § Fuee v G s gt aoE i



ANSWER KEY OF OBJECTIVE QUESTION, CLASS 12,
SUB. BIOLOGY

1-a 11-d 21-a 31-a
2-d 12-a 22-d 32-c
3-a 13-a 23-c 33-a
4-a 14-d 24-d 34-c
5-a 15-a 25-d 35-b
6-d 16-d 26-a
7-a 17-c 27-b
8-b 18-c 28-c
9-a 19-a 29-d
10-b 20-a 30-b




